Three-Force Body

(a) (b)

Equilibrium conditions require that the three forces be coplanar and concurrent.
Exception: The three forces are parallel.

3-39 See Fig. P3-39. Determine the 400 Ib
reactions of the supports at A
and D due to the 400-1b load
applied to the frame shown by
(a) the force triangle and (b)
equilibrium equations.

3 ft

FIGURE P3-39

Solution. See next page
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(a) the force triangle
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(a) equilibrium equations
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Problem Description Body Incomplete FBD

3-1 Uniform beam
supporte y @ 0 9B @ . : — 9B
roller at A and " ”;/3[4 G A L 0 %4 G 1A

hinge at B. R,
8 ft 4ft

Step 1. Draw the Free Body Diagram
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Step 2. Equilibrium Equations

72



3/5(501b)=301b C

50 1b

B
’G
1A
’% 201b
~’w 4/5(501b)=401b A B
y VV
) 6 ft g S e Y S

Equilibrium Equations
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Identify the type of support and indicate the equivalent reaction provided by the support.
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